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3 H4X EH | B AR SErE6 S
BHEHN 6 = Skg = kg | 1,000 EE
BHN 1B 5F 5kg & kg 900 EiE
BHHN 8E 5F 5kg 5 kg 850 EiE
BEHN 102 BF 5kg i kg 800 EiE
T 17/198 = S5kg i kg 950
T 20/24 = I S5kg 4] kg 950
MDA 16/ dtiEE 2kg e kg | 1,700
mNA 35 dtiEE 4kg i kg | 1,350
mNa 152 BF 2kg i kg | 1,850
mns 1672 E2F 2kg bS] kg | 1,600
7Y 10/12kg | JtiBE 1A & kg | 1,400 #HE EX
7Y 8/9kg dtiEE 1A & kg | 1,300 EE EX
) 9/10kg dtiEE 1A & kg | 1,000 EiE
71 7/8kg L& 1A & kg 950 EiE
ES<Y 3/4kg =801 1A 4] kg | 1,900 TE &~
hyxt 4kg =471 1A & kg | 2,000 # EE
hyxt 3kg =I5 1A & kg | 1,400 # EE
£ B 5FE EEdr 5/5.5kg e kg | 3,300 # IEH
£ B 8E GEdr 5/5.5kg & kg | 2,600 # fEE
TH 2/3E tiEE | 3/4keE & kg | 2,300 48
TB 1.5/2kg B 1A = kg | 3,800 ETE FX
=K 2/3kg B 1A & kg | 2,900 EiE
ARXF = 5 1A i kg | 3,100 EE
YAh o/ = 5kg bS] kg | 1,250
E4H N = 5kg i kg | 1,300
BT I74—L 4/6 A\ dbimE 5kg i kg | 2,150 | AR B BRI A7 BE. B




